Chapter 15.5 Austria-Hungary’s Decline
-The Austrian Empire during the early 1800s, contained more than 11 different groups, including the Germans of Austria and the Magyars of Hungary.
-How was Austria’s problems similar to what we learned about Russia’s problems?  They both lacked national and geographical unity.  Both were very feudal, A powerful nobility controlled a large peasant population, similar to Russia.

The Revolution of 1848

-Metternich held the office of minister of foreign affairs in Austria from 1809 to 1848.  Metternich believed that democratic movements would destroy the Austrian Empire.  What did he work to crush within and outside the empire?  Revolutionary Activity

-Despite Metternich’s policies, what began to spread in Austria? The revolutionary movement.

-What did these nationalist groups demand?  Freedom of speech and press, peasant relief from feudal dues, and a representative government.  The Austrian Empire seemed to be on the verge of collapse.

-What was the conflict going on in Vienna?  Middle-class moderates wanted to reform the political system, and radical workers wanted to overthrow it, this weakened the revolutionary movement.

-Who became Emperor when Francis Ferdinand resigned?  Francis Joseph.

-Francis Joseph moved quickly to restore the conservative order.  He dissolved the revolutionary assembly and rejected the new constitution.  Francis Joseph struggled during his 68 year reign to maintain a unified empire.  Austria’s empire was further weakened when Austria was forced to give up Lombardy, and during the Seven Weeks’ War with Prussia, Austria lost influence in the German States.

The Dual Monarchy

-Austria had to deal with Hungarian nationalists wanting to declare Hungary an independent republic, but Austrian Forces were able to restore Hungary to the Austrian Empire.  Francis Joseph realized that his empire’s stability depended on better relations with the Hungarians.  Joseph met with Hungarian leader Francis Deak, to see if a compromise could be worked out.

-Austria and Hungary made an agreement in 1867, called the Ausgleich or Compromise, which restored Hungary’s independence and divided the Austrian Empire into a dual monarchy.  This made Francis Joseph what?  Ruler of both areas, kept his title as emperor of Austria, and the Hungarians crowned him king of Hungary.
-Both Austria and Hungary were completely independent of each other, how?  Each had its own constitution, prime minister, and parliament.

-How were Austria and Hungary dependent of each other?  Economically, Austria supplied manufactured goods, while Hungary supplied food products.  After the creation of the dual monarchy, what began to grow in Austria?  Production of coal, iron, steel, and manufactured goods grew rapidly.  

Powder Keg in the Balkans

-Where did Austria hope to expand to due to the Ottoman Empire’s decline?  Balkan Region.  The primary objective was to prevent Russian expansion into the region.  

-During the Crimean war, what did France, Great Britain, and Sardinia help to do?  Defend the Ottoman Empire against Russia’s advances.  

The Congress of Berlin

-In 1877 Russia went to war on behalf of the Slavic people in the Balkan Peninsula, called the Russo-Turkish War.  They did this to justify expansion where?  Balkan territory.  The Treaty of San Stefano ended the war, and created a large Russian-controlled Bulgarian state.  
-What country was outraged at the Russians gaining control of this region and the people wanted to go to war with them?  Great Britain.  What was the term that described patriotism, provoked by a foreign threat?  Jingoism.

-Many European powers protested what treaty?  Treaty of San Stefano.  The powers met in Berlin, Germany, to revise the treaty, and divided Bulgaria into three parts.
-What were the results at the Congress of Berlin?  Satisfied few, Russia lost its war gains, the Ottoman Empire lost much of its European territory.

Balkan Conflict

-Who did the Balkan league declare war on?  Turkey.  What were the results of this war?  The Ottomans lost most of their European territory.

-Soon after the Balkan states won the war, they began to fight among themselves over what? The lands they had gained.

-What took place as a result of the Bulgarians wanting to keep their land?  The Second Balkan War.  

-The fighting ended in 1913 with what treaty?  The Treaty of Bucharest.  Who lost the war?  Bulgaria.  They surrendered much of the land it had won from the Ottomans.

-The Treaty of Bucharest did not bring lasting peace to the Balkans.  The Serbs increased their power and encouraged nationalism and threatened Austria-Hungary.  Russia sought to extend influence in the Balkans.  The French, British, and German governments wanted to preserve the balance of power.  What did they want to prevent?  Austria-Hungary or Russia from gaining greater influence in the area.  Writers called the Balkans “the powder keg of Europe.”  Because events in the Balkans would sooner or later explode into a major European War.  (We are headed towards World War I!)
